Name ___________________________

Parabolas Worksheet 

Date ___________________

Hour ________

Circle the problem number of the equation, information or graph that represents a parabola.
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 26. center is (3, 4); r = 3


27.  vertex is (2, 6); opens up; focus is (2, 7); 


directrix is y = 5

28.  center is (0, 0); The asymptotes 


are
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and (-4, 0).  

29.  vertex is (-2, 2); opens down; focus is 

(-2, 0); directrix  y = 4

30.  center is (-2, -6); r = 4 


31.  center is (0, 0); The asymptotes 


are
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and (0, -5).

32.  vertex is (2, 4); opens right; focus is 

(3, 4); directrix is x = 1
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